DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12NPCB14 | NEET PRACTICE QUESTIONS | 21 XH
(2023-24) (TEST-14) Total Marks: 240

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. In young's double slit experiment, the ratio of
the intensities of the dark and bright fringes is
16 : 36 The ratio of the amplitudes of the two

light waves is
A)8:2 B)36:16
0)s5:1 D) 2:1

wml @uLlenlll NeTtey <puieilev, Fmin
LDMHMID QUHLO LI emL & 6rfledr Q& n)l e & 6rfleor

NesD 16 36 ereoflev @ evor(h  eperl
Slemeuserflett efg &g erfler el &G

A)8:2 B)36: 16

C)5:1 D) 2:1

2. The displacement equation of two interfering
waves are given by y; = 10 sin (Wt + % ) cm,

y, = S[sin wt + V3 cos wt] em. respectively,
The amplitude of resultant wave is
cm

A) 20cm
B) 15cm
C)10cm

D) 25 cm

@ revor(h) GGG (B llemerey 3| 6mevdserfleor
QLUQUWIEFR FerUTH&6T  nenmGul

y1=10sin (W74 )@z.8, y, = S[sin wt + 3

cos wt] Q&.L15 6T6vfl6v Q&G LIUIEIT 26076V U 60T
D0 Q&S

A) 20cm
B) I5em
C) 10 cm
D) 25 cm

3. Two coherent sources of light interfere. The

Intensity ratio of two sources is 1 : 4 for this
r . Imax + Imin
interference Pattern if the value of T+ Lo

is equal to 2/?%31 then % will be

A) 15 B)2

C) 0.5 D) 1
@reoor(h - eflueb] eperfl  epeumEIG 66T
eefl&HeT GMISHOLWD CUME @ revor( eper
epevmisefler Qamle] BSLD 1 : 4, @QHS
GLEELE swlld T wHy

20+1 . . . a . .
f+3 HG FOW. GgId g -6 S LIL

6TEOTEOTEU TS @) (H& & LD.

A) 15 B)2

C) 0.5 D) 1
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4. In Young's double slit experiment, the 6th
maximum with wavelength ‘A *is at a distance
(d,) from the central maximum and the 4th
maximum with wavelength A, is at distance
d,. Thend /d, is

34 24,
A3, B) 37

wi @ulenLl  Wemey  sylieiley, A,
emeVHeTpenLL 66Ug& GQLIHLOL el
QUBLESH O BHE! d, S TenevaleL 2 6Tergl.
SIB% GUIMeL A, SjenevhaTld Q&Moo 46US!

QU@L d, CFHTenevaley 2 6TaTag! 6Tevilev
d./d, 601 LOGILIL.
34 21,
A) 92, B34
34 241
9 D) 32,
5.In Young's double slit experiment, for

wavelength ), the n™ bright fringe is obtained
at a point P on the screen. Keeping the same
setting, source of light replaced by wavelength
A, and now (n+1)" bright fringe is obtained at
the same point on the screen, the value of n is

A) A B) 4o

C) /11;2/12 D) /11/;1/12

whser @rlenLllere opiefey A,
SmeVBeTd Q&BMeooTL.  Q6M&HEG n-eUSl
QU@L UL emL Hemguilev P eredtm Ljsierfluilev
ANWHRME, CH MLl MGG
Q& MeoT(h), {6MELIHETLD A, G185 60T L 61Ul meu
g6l eLNELGEMNS DMMHMID LM (n+1)L6US!
QuELL Heoguley CH  Lemerflullev
aNWH MG 6T6vtl6v N-@)60T DG LIL| UITSHI?

B) /11/1%

A) Al/}/u

C) /11;2/12 D) /11/;1/.12

6. Calculate the minimum thickness of a soap
film (n = 1.33) that results in constructive
interference in reflected light, of the film is
illuminated with light whose wave length in
free space is 532 nm.

A) 113 nm

B) 100 nm

C) 200nm

D) 226nm
GFmiL ULeld e6rm  QeumnlL G560
532nm 3|6M6VIHET (LN 6T
eperflulmev epeflu, L LD Gurms|,
aHQrmefleaasliul L eaflumd  6HEH
GOISESEL R alemerey  QUOLUILGSMmS!

eTeotlev GFMLUIL LILevGH et (u=1.33) P oming
19 LDEM 60T & 60015 5 (h) &.

A) 113 nm
B) 100 nm
C) 200nm
D) 226nm

7. A light of Wavelength 500nm is incident on a
young's double slit. The distance between slits
and screen is D = 1.8m, the distance between
slits is d = 0.4 mm. If the Sereen moves with
a speed 4ms !, with what speed first maxima
will move?

A) Smm/s B) 4 mm/s

C) 3 mm/s D) 2 mm/s

WiIser @ulenllilere] opuiedley, 500
nm Sjemeuberid Q& mevorl eperfl Lilemayerflev
ANWHME. HorsG, LI6TesHens @D
QemLGBW 2 6T Q&Mem6VE],, D = 1.8 m,
@uUesoT(h  LeTey&HEhsE @eenLGu 2 6Ter
Qsmemeva] d = 0.4 nm HemFWimers 4ms™
CaussHH BEHEIHHTL, 6HS CaudsshHev
(LPH6L GLIIHLOLD [H&H(HLD.

A) Smm/s B) 4 mm/s

C) 3 mm/s D) 2 mm/s
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8. In Young's double slit experiment the two slits
are 0.6 mm distance apart, Interference pattern
is observed on a sereen at a distance 80cm
from the slits. The first dark fringe is observed
on the sereen directly opposite to one of slits.
The Wavelength of light will be nm.

A)450°A
B) 450nm
C) 450 mm
D) 450 pm.

WiIser  @ulenlll  emey — yuledley,
@uevor( Llemeysdser 0.6 WAL Q&memneveaiey
MeUGSLILL B 6Tens. GMIGHLH allemerey
L emeysserfled (hH S 80 Q1 &.L0 G\ & Tetr6v el 6l 6IT6rT
Genguiley  QUDLUILESEMS.  Hengulley
QUMUULL W&V QUGB @ Feoor(h
Nemaysseflev, e Nemeys@& GmI  eTHiflev
@A BEGMTTe, eefluller  emevBerTin
nm.

A) 450°A
B) 450nm
C) 450 mm
D) 450 pm.

9.1g of water of Volume lcm? at 100°c, is
converted into steam at some temperature,
under normal atmospheric pressure (1x10°Pa).
The volume of steam formed equals 1671
cm?. If the specific latent heat of vaporisation
of water is 2256 J/g. The change in internal
energy is

A) 22561 B) 2423 ]
C) 2089 J D) 1671
TS ITIJ600T auerflLnevor L6V (W& 5ID

MHMID QeuliLiblemeuuiley, 100°C-60 1 Q&F.LS?
LigpLoeoflev 2 6o 1 g Bomeorg Brmellwins
LTOHPOLULUGREmE. 2 @meurmer Brmellullesr
LIGpLO6T 1671 Q&F.LS? &G FOWMGLD WDMHMILD
Brfleor oelwmsedler 2 6TEhemm GeuliLLD
2256 J/g eTenflev 918 2L,MMe6L mmILIm(h)

A) 22567 B)2423 ]

C) 2089 ] D) 1677

10. A refrigerator works between 4°C and 30°C.
It is required to remove 600 calories of heat
every second in order to keep the temperature

of the refrigerated space constant. The power
required 1s [Take 1 cal =4.2 J)

A)236.5 W
B) 2365 W
C)2.365W

D) 23.65 W

4C wmmib  30C-&@ Q6mLCW 6
GeflJomserL QuILLg Geuem6y
QEFWHME. Geflepl LluBl QLSS eor
QeuliLIBlemevenl LDMMIeNWTs eneulllgGnH S
@8 RaIQUTMH eleTmg&sEGLD 600 &G
QauliLusems HHEH Geueor(d  eTevilev
G emaulILIBID Hmedr (1 &Geumifl = 4.2 ))

A)236.5W
B) 2365 W
C)2.365W
D) 23.65 W
I1. A thermodynamical process is shown in fig
with P =3x10* Pa, V, =2x107 m’, P =8x10*

Paand V= 5x 10°m?

P 1 B

Wc

A

C
In the process AB and BC, 600 J, and 200 J of
heat is added to the system respectively. The

change in the internal energy of the system in the
process AC would be
A)560) B) 65017]

C) 5301 D) 590J
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;7(:

A

C
P,=3x10%Pa,V, =2x10°m? P, =8x10* Pa LOMMILD
V. =5x 102 m? LS ILSHEHL6T  QeuliL
@ussalluley 515D 6)| & 6iT UL &56v
ST LU (heTemgl. AB Lnmmith BC BlasLpeN6v
600) wWwMHMID 200) Qeulu  WenmGEUI
el LerT GFIH&HELILGGIMSI. eTeoflev
AC mlswailler el ghuU@l 95
2LMMEV LOTMILIT(H

A) 5607 B) 650 J
C) 53017 D) 5907

12. In an isothermal process the volume of an
ideal gas 1s halved. One Can Say that

A) internal energy of the System decreases
B) Work done by the gas is positive
C) Work done by the gas is negative

D) Internal energy of the system increases.
QauliLmlemey MMM BI&GP6]  seTnl6y,
BeLVEOILIGUL]  6UMU]  6R60TMIEOT LICHLOGDT
LTRSS GenmasLILGIT M eTefley,

A) S|emDLILN6T 38 MMV GeMRMSI.

B)aumujeumey  QaFuwwlu@Gm  Geuemev
CHIGM 2 e uwgl

Oeamyelmey QFwwlU®W  Geuemev
THIGM 2 6mLwgl

D) &jem LI edr 5 SL,MM6V

AP &NEH MG

13. Three Samples of the same gas A, B and
C(?’ = %) have equal volume initially. Now

the volume of each sample is doubled. For A,
the process is adiabatic, for B it is isobaric
and for ¢ the process is isothermal. If the final
pressure are equal for all the three samples,
the ratio of their initial pressure is

A)2:1:\2
B) 2v2:1:2
C)V2:1:2
D) V2:2:1

@Gy eumweller epermy WLTHfseT A, B
DM mILD C(7=%) Wmegl QFHTLEHSH 6V
FLD LIHLO6DEOT G185 M6ooT(h 6ITemenT. &MELIMSI

6261 G6UM(H & rlulleor LI(HLO&DILD
@ LBISTESLIUGSHMS!. GLaild
A QeuliuulmhmiuieveuT B &LD6),

B oWwssd wmom plspe| woH@ID C
QeaullUmBlemev LDMMIT BI&HLD6)| LG LD. eLneoTmI
LTS &erfler @mMG NWSHSLD FLOLD 6Tevflev
AUDHMIET QFHTLES (WSS 6T &S0

A) 2:1:\2

B) 2v2:1:2

C)2:1:2

D) \2:2:1

14. The fall in temperature of helium gas initially
at 20°C when 1t is suddenly expanded to 8

times its original volume is (7 = %)
A) 70.25 K
B) 71.25K
C)72.25K

D) 73.25k

SLTLUSH6L 20°C QeuliLplemevuiey 2 6iem
anfedlld QUMW ST QLTLDL LIHLOEDEOT
L 8 LLME Heer allifleunsasLiLmwn

GuUMal gMUG LD QeuliLl 6Sh&F (7’ = %)
A)70.25 K
B) 71.25K
C)72.25K

D) 73.25k
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15. In a heat engine, the temperature of the source
and sink are 500 K and 375 K. If the engine
consumes 25 x 10° J per cycle, the work done
per cycle is the

A)6.25x10°]

B)3x 10°]

C)2.19 x 10°J

D)4 x 10*]
Qaulll @QWBH T eedTM6dT GlauLiLl eLp6VLD
LHMID Qeulil gmliuilerT QeuliLmpleney
WemmBW 500 K wmmid 375 K 4@&LD.
R0 HFOOGSG SbHS QWHS T 25 x 10°)
WOMMV  QFILLTL, — 6UCeuTm
FMHMIHGL QFWWLILGL Ceuemev

A)6.25x10°]

B)3x 10°]

C)2.19 x 10°J

D)4 x 10*]

CHEMISTRY Q.No. 16 to 30

16. The catalyst used in the manufacture of
H,SO, by contact process is

A) AL O,
B) Cr,0,
C) V,0,

D) MnO,

9jilevLd
LiweruU (LD

QsTh  wemuilley  &HHEHE

swrflggedley
aflemeTGeugsLnmm
A)ALO,
B) Cr,0,
C) V,0,

D) MnO,

17. Which of the following statement is wrong?
A) NOCl and NO," are isoelectronic
B) O, molecule is bent
C) Ozone is violet black in solid state

D) ozone is diamagnetic gas

FELDEHEOTLIMMIET  HUMTET  FonMHenM
CHTHOSHH &S LD
A)NO,” Wwmmild NOCI @55 6T6L&L [ Teor
3|6MLOLI60) LI Gl &sITE00T 606U

B)O, CfNeLEFnM 6UM6THS V allgelDd
Q& ITEUoTL_G

Q) @Comer Hevorld BHleneLUI6L &(IHETGIT
BID&S6L @S S0

D) 2 @& meor L
Q& IT60OT L GUITU

&HTHSHE S 60T60)L0

18. Which among the following is most reactive?
A) Cl, B) Br,
Cs D) IC1

G LD E>85600TL_6UMMIGT 6TH 55 616 60T S\ M 60T
Q & M6oTL_G1?

A) CL, B) Br,
C) L D) ICI

19. The pair in which phosphorous has a formal
oxidation state of +3 is

A) Pyro phosphorous and hypo phosphoric
acid

B) Ortho phosphorous and Hypo phosphoric
acid

C) Pyro phosphorous and Pyro phosphoric
acids

D) Ortho Phosphorous and Pyro phosphorous
acids
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G LD 85 600T L 6TH& @ LImeruLIgen
ILdlevmsi s erflev LImeruLIen +3

2,5618GeTmHM MBlemeuuley 2 _6Tengi?

A) e LIGTITLITENLIF6en LOMHMILD
emamLIGUTUmenUMg 9flevld

B) ©,J& G ITLIMENLIT6rVLOMMILD 60YQMLIGLIT
umenumile 9udlevin

Q) eUIGTTLITENVLIT6N
emuUGTmUmeUM& jdlevld

LOMHMILD

D) &7&5CHT LITenLIJen
UG TLMeruLITen Lileuld

LOMHMILD

20. Which of the following is explosive
A) NCI,
B) PCI,
C) AsCl,
D) all of these

G LD 8585 600T L_6) M M1 6T 613
QUITIH6T?

(APTIE: G M)

A) NCl,

B) PCl,

Q) AsCl,

D) @ 6m6U 36M60TSH SN

21. Which of the following elements does not
form stable diatomic molecules?

A) lodine

B) Phosphorous
C) Nitrogen

D) Oxygen

G LDEG600TLeUMMIET 6T [Bl6em6VLLITEOT FF el
ELNEVE T M QUMM (HEHEHMTSI?

A) 2GUIITLY.60T

B) LimenuLIyeny

C) 6mIBL_[J 60T

D) oy,&6rdlegeor
22. Match the following
a) Pure N, 1. Chlorine
b) Haber process i1. Sulphuric acid
c) Contact process iil. Ammonia
d) Deacon’s process iv. Sodium azide

a b c d

A) i ii iii iv
B) i iv i iii
C) il iv i i
D) v iii i i
QUIMT(H&S S &:
a) &rw N, i. GGerrmifleor
b) GamLIT (pevm ii. HHSH5 Ldlevn

0) QBMTH Wemm iii. D ELomeotlwiT

d) Ie&eor (Lpedm  iv. GFMIQWILD 36 & (b

a b c d

A) 1 1 111 v
B) 1 v 1 111
C) 111 v 1 1
D) v 11l 1 1

23. During lightning in atmosphere — is produced
A) NH,
B) NO
C) NH,OH

D) NH,OH
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aflevorQaueflulley leoTeoTeL CHTOTMIAIFTL | Q&ETHBleMLEMUIL] QUTMISS  @MHIG

2 (HeUmeusI? alflens
A)NH, I. CH,-~CH,—CH,—CH,—CH,
B) NO II. CH,~ CH- (le— CH,- CH,
C) NH,OH CH,
1. CH,~ CH- CH- CH,
D) NH,OH | |
CH, CH,
24. Propane can be best prepared by
A)IIT> 11> 1
A) CH,~CH,-Br + CH,Br + NaEt,O
B)I>11>1I
B) CH,~CH,~COONa + CH,COONa —
O)II>TI>1
. Et0
C) CH,-CH,-Cl + (CH,), CuLi —— D)II>1> I
D) CH,-CH,-CH,~COONa + NaOH—"2> 26. The reagent?used for the conversion of
LGTTLIGUET & 1sE AouLrs SuTfléEs heptane ———> 2, 4 — dimethyl pentane
2 _Fe|lD ellemeot is
A) CH~CH,-Br + CH,Br + NaEt,0 A) AICL + HC
B) CH,~CH,~COONa + CH,CO0Na — - —> B) H/Ni
C) H,SO
C) CH,-CH,~Cl + (CH,), CuLi —> Q\ ¢
D) CH MgBr
D) CH,~CH,~CH,-COONa + NaOH —*— . _ o
QamLIGLefledmH Sl 2,3-60L QL5 H 6V
25. The decreasing order of boiling point is QUEUTGL 6T 2% WIOM 2 S elleneorss
&ITy6o0l|
I. CH,-~CH,—CH,—CH,-CH,
A) AlCI, + HCl
II. CH,— CH,- CH- CH,— CH,
| B) H,/Ni
CH,
I1I. CH,~ CH- CH~ CH, O R20,
| |
D) CH,MgBr
CH, CH, ) CH;Mg
A>T >1 27. Methane on heating with oxygen in the
presence of Molybdenum trioxide gives
B)I>11>1I
A) CH,OH
O) I >TI>1
B) HCOOH
D)II>1> 11
C) HCHO
D) CH, = CH,
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I55CHemeoT LOMESILIG60TID L6 T3, E6men(h)
(Wetevflemeuuiley oy &6erNementss 685 meoor(h)
QauliulUBGSSID CUME HemLLILIgI

A) CH,OH

B) HCOOH

C) HCHO

D) CH, = CH,

28. Which of the following is the final product of
the below reaction?

H,C_  CH=CH,

<&

CH,
CH,
A)
CH,
b
CH,
odre
CH,
CH,
D)

GLpsseoL. Gaudallemeruiley @MIGUITSHS
FRemLLILIGI1?

H,0"
N

H,C_  CH=CH,

H,0*
N

CH,
CH,
A)
CH,
e

CH,
ol
CH,
CH,
D)

29. Isomers of hexane, based on their brunching
can be divided into three distinct classes as
shown in the figure.

I I: > and \(\:I
II I:/K/\ and /\(\:I
IIII: o\ :|

The correct order of their boiling point is
A)I>11>1I1I
B)III>1I>1
O In>1r>1
D)l >1>11
QTG0 o_aTer
Qam & Caevfledr LTOMWBISGET  3560T

F\60)61T 5 61f | 60T 6T600T 60011 85 60) & 600 LI L

QUMMISS  IH6e0T Q&THBlemen auflens
L9l edTeu (B LO M)

I |: >—< and \(\:I
il I:/K/\ and /\(\:I
IIII: AN :I

A)I>11>1I1

LD 85 600TL

B)YII>1I>1
O II>MI>1

D)II>1>11
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30. The trans — alkenes are formed by the
reduction of alkynes with

A)H,-Pd /¢, BaSO,
B) NaBH,
C) Na/ Liq.NH,
D) Sn - HCI
3| 6V60)5560T860)6T

21,60 5 60T 5 60 61T
LiwerLI(heugl

20 &5
QUMILD

LQ. [T IT60T6N
wenmuilev
A) H,-Pd / ¢, BaSO,

B) NaBH,
C) Na / Lig.NH,

D) Sh - HCl

|  BIOLOGY (BOTANY) Q.No.31t0 45 |

31. Montreal protocol was signed in 1987 to
control

A) Transport GMO from one country to another
B) Emission of ODS
C) Release of Greenhouse gases

D) Disposal of e-waste

1987 6 eMEHEQWWSSTeT  LOMeorL_iflulev
RUUBSL sLOULGSSIE

A) @ BTG GHS! LMHEMT® BTLIQMS
GM 2_WirfleemeT eT(H &S QFValS)

B) ODS QeuerflGwmmLd
C) LIG6mLD @) 6V6V UM & S6T G eueflGuMMLD
D) 6ot A6 QIUITIHL_GH6MEIT &60)6ITE 60

32. Identify the correctly matched pair

A) Basel convention — Biodiversity
conservation

B) Kyoto protocol — Climate change

C) Montreal protocol — Global warming

D) Ramsar convention — Ground water
pollution

FrilwmsLl
&600T LM &

QUTBHH W ) 60)600T60) UL

A) UFI6L Fal LemoliL] — 2 ulifl LesTn

GLIETDI 6 5
B) SCWMLGCLIT epLILIBSLD — 85TV Bl 6m6V
LDTMHMLD
C) omedrL_ifludev
@LILIBSLD - yalQeuliLLnenL g6V

D) pTO&TH @UILBSID - Blevd sl B ome:
33. Good Ozone is found in

A) Mesosphere

B) Troposphere

C) Stratosphere

D) Ionosphere

[560T60LO & (HLD
SmeooTLILIQeUs

62 Q& 60T 3h &S

A) BCsmerLNwIF
B) LGrm@umeruLwiy
Q) e GrL_GLmervuLwiy
D) wGeormervLNwiy
34. World Ozone Day celebrated on
A) 16 September
B) 5 June
C) 21 April
D) 22 April
2 605 RCFMET HeoTlD Q& Mevor ML LILI(heug!
A) 16 Q&LILLOLIT

B) 5 &3 v6dT

Copyright @ THE ALCHEMIST CONSULTANCY



Q) 21 gLiJ6v
D) 22 gJLIJ6V

35. Lichens, Ficus, Pinus, Rose are Phyto
indicators of

A) Nitrate Pollution
B) SO, Pollution
C) Fluoride Pollution

D) Heavy metal Contamination

60)6V 86 5 60T 5 61T, 6DLIGH 6N, 60)LI6OTEN,
Grmenv  GuUIeTM &MU &L IQ&HTLLY&H6T
FLIQHTLHeug _

A) 60BLCTL Lom&LMT(H

B) SO, om&LIm(h)

Q) YemenJ®H LmauUm@)

D) &H60T 2_GeVM&H LOME

36. Which of the following pairs are responsible
for greenhouse effect?

A) O, and O,

B) N, and SO,
C) CO, and CH,
D) N, and O,

BL&HEITL. @ enenrskefled  LgGemn  @6vev
allememellM & &ITJ600T LOTEOTEM 6L 6T60I6U?

A) O, LDHMID O,
B) N, LommiLd SO,
C) CO, o miLh CH,
D) N, tommitd O,

37. If there was no Carbon dioxide in the earth’s
atmosphere, the temperature of earth surface
would be

A) Higher than present

B) No change

C) Less than the present

D) Depends on Nitrogen

QU6 ILD600T L6V S H 6V STITLIET ML 8 6m6rV ()
@ 6vemev eteuflev Ljall LIFLiLNesr QeuLliLiblemney

A) 5HCUMeMS W Blemevenl il &\ &0
B) 6T1H& LOMMMOLD &) 6V6DI6V
Q) HMHCUMemN G W Blemeveml el &emme
D) 6B JR6060T FMIHSHS!
38. Forest man of Indiais
A) Sundarlal Bahuguna
B) Panduranga Hegde
C) Jadav Molai Payeng
D) R.K. Mishra

@npsuw 6 6oT
PSS LILGLIUT

L0 6071 & 60T 6T6oT

A) &IHSHITEVLITEV LIE (& 6007 T
B) LIMevor(h T8 Glam&GL
C) 2M&HeU GLOmeLTUl LIGUIMI
D) RK. Wlervgm

39. Which of the following would not get in the
regeneration phase of Calvin cycle?

A)C3+C3—-C6
B)C3+C6 - C5+C4
C)C3+C4—C7

D)C3+C6 —-C5+C5

L) 63T 60 (T 61 60T 6 (D M) 6T &mevel6or
FPOFWeT DmI2 MaITES  Bleneuulley
RO EHHLUIQLMTEHSI?

A)C3+C3 — C6

B)C3+C6 - C5+C4
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C)C3 +C4 — C7
D) C3 + C6 —C5 + C5

40. Primary CO, acceptor molecule in C, Cycle
1s

A) 3 Carbon Ketose sugar
B) 3 Carbon Aldose sugar
C) 5 Carbon Aldose sugar

D) 5 Carbon Ketose sugar

C, &WwmEUilev COem6l FMEGSLD (N&HELHlemey
LNV S T M.

A) 3 SITILIET SLGLITeN FF&HSemT
B) 3 &ML QL,6VCLITEN FJE&&H0T
Q) 5 SBMTJL6T 3L,6VCLITEN FJ&SHNT
D) 5 SIMTHLI6T SLCLTeN F&HEe0]

41. With reference to photorespiration find
out number of correct statements of the
following:

L. It does involve in the synthesis of sugar and
does not yield and any ATP

II. RuBisCO act as a Oxygenase in the
photosynthetic cells in the presence of CO,

III. This cycle involve to utilise ATP molecules
to release of CO,

IV. Intermediate of this cycle enter the Calvin
Cycle.

A)l B)2
C)4 D)3
&6 & &6 MTE & 5 60T Il LiLemnLuilev

LYl edTeu (H6u 6oTeU M MI6T & IflUlT60T Fo ()M 856rfl 6T
6T600T 6001 | 856018560 LI &> 85600T LM LLI6Y LD

. @euallemeTuilel  FIHSHT 2 MHUSH
e LG LIMILD LDMHMILD ATP 2_MHLIGE) @) 6vemev

11

. el FCF 8605 QFeL& 660
Co, (LpetTentlemeuuiley RuBisCO
3L,GMILGIGeToTEHS QFWOLORSHMS!.

. @&F&FLPMHF ATP LN 6V 8 G M1 G 60V6T L
LweTU® &S CO,em6u QeuefluG& mE!.
IV. @ 66t eorull6oT @ emLBlemeul]
QuUITBETHET  Smevalledr  S&HLPMFIUI6L

LURIGCHEMHBMS.
A)l B)2
C)4 D)3

42. Increasing CO, concentration more than
0.05% in the atmosphere leads into

A) No effect

B) Increasing and decreasing photosynthetic
rate.

C) Increasing photosynthetic rate
D) Inhibitory effect

euerflneoorLeuSHlev CO,efleor Q&FMle] 0.05%
D555V gHLBLD ellenere]

A) 6THS 660166 & @BLD FMHLIL MG

B) eperfl&G& 1786t 8 Ul 60T GeussLD
218555510 GODHAILD @GS G

Q) eerflEGHF T8 6 & U 6T Gauss LD AP &Il 5 3
QG&HGLD

D) &G\ eflenere] g MHLIGHILD

43. To produce 4 sucrose molecules the number
of ATP and NADPH + H" required in C,
plants

A) 120 and 48
B) 188 and 192
C) 144 and 96

D) 72 and 46
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C, HTeUTMHIGETI6V 4 F&GT TN CLN6V S G M1 &5 61T
2 HUSGHWTSE CHemauliL@L ATP LMMILD
NADPH + H*

A) 120 LD MILD 48

B) 188 LoM;muth 192

Q) 144 IDMHMILD 96

D) 72 LoMMILD 46

44. RuBisCO activity is regulated by

I. CO

2

I1. O, 1. Mg
A) I and II only

B) I and I1I only

C) I and IV only

D) I, Il and III

RuBisCO el eoT Q&FWeLLITL 6t

QpMILILM &SI Lemeu

1. CO, II. O, Il Mg
A) I lommid 1 oL (hILD

B) I LnmMmiLd 11l oL (H)LD

O Il oI IV L (LD

D) I, Il Lommutd 1l

45. Assertion: In C, Plants Photorespiration does
not occur

Reason: RuBisCO in the bundle sheath cells
act as carboxylase instead of oxygenase, to
prevent photorespiration.

A) Both A and R true and R is the correct
explanation for A

B) Both A and R true but R is not correct
explanation for A

C) A is true but R is false

D) A and R are false

gy : C, STeugmsefle eeflFaeumgn
H60 L L16 LI MI6UE 6L6mI6V

SITTEOTLD: Q6T FHFAUMEFID HOLQLIMIOINS

SHLULSMSHTSH RuBisCO &HMenM
2 MMEFQFSHETIEL 21,8 6001831GeoTerVIMss
Q&FWELLILITLO6 STIUTESEF Cevenms
QEWeLGRMS.

A) Famml IDMMILD SITFeooTLD @) Tevor(hiLd &Fifl,
SHMTFeoor LD S MMM @& Fiflwimeot ellemg &0
S5GH DS

B) MM LDMHMILD SITFevoTLD @) Tevor(hLd &ifl,
&MIeooTld Fa MMM Fiflwimer ellemg &0
srellevemev

Q) FaMmm Fifl QLE0TITEL SHITTE0OTLD H6UmI

D) oMM &TIeoorD @ Teoor(hlD &e6uml

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. Assertion (A) : Humulin is pure human
insulin

Reason (R)
engineered insulin

Humulin is genetically

A) Both (A) and (R) are true and (R) is the
correct explanation of A

B) Both (A) and (R) are true but (R) is not a
correct explanation of A

C) A'is true but R is false
D) Both A and R is true

o (A el upedl et
STUlemLOWITeT L06of18 @) 601860l 60T
SMyeoorlD(R) : emlujpedledr eredTLIS LOFL
Qumluilwey wWemmuiley 2 HeUMHSLILIL L
@) 6075601607 QY& LD

6TEOT LIS

A) (A) OO (R) @eoT®L &ifl, LHoILD
(R) ereorLs (A elms&meor  Fiflulmeor
aflem& a1 9L GLD.

B) (A) LommiLd (R) @ revor(®LD &ifl, Syeormev (R)
eTedT LIS (A) el & meor & iflwimeot ellem&s &0
@) 6L6EmI6V

O (A &1 R) Seum

D) (A) LoMmILD (R) EW @ Fevor(HILD Heum
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47. In the following statements more then one of
the answer given may be correct.

Select the correct answers and mark it
according to the code.

The polymerase chain reaction

1. Produce multiple copies of DNA

2. Requires oligonucleotide primers

3. Requires the use of heat

4. Has a high specificity but low sensitivity
A) 1, 2 and 3 are correct
B) 1 and 2 are correct
C) 2 and 4 are correct

D) 1 and 3 are correct

GG Q&EMH&HSLILIL L 6Mel&H6re0
umeln@reny  FEIHE allemerr  GNHSH
FIWIMTEOT oD MIGEMET (R6TMISHE CLOMLIL-L)
&HeoorLMlba, ST igemer LiweTLGSHS)
aflemnLenl CHTHO S H &H&H6]LD.

LImedLnGrenv &Fmis 60 aflemeor -

1. eTeOOT6OOTMM  6@&5&  DNA
92 (HEUM&HSHEVITLD.

15 & 60 85 60) 61T

2. 960Csm BlwHeflGwmenL(h (L& 6oTemLn
©)60)600T LIL| @) 60LD&6IT GHemeuLILI(HILD.

3. QeulIug & et LiweTUm(H G emalLliLi(RILD.

4. 995 GOIULSOSaTemULD  LDMHMILD
GHMIHS 2_600T [T H MEBILD Q& M6evoTL_Sl.

GILIINC)
A) 1,2 InHmILDd 3 &ifl
B) 1 LoMMILD 2 &FIf]
Q) 2 nMmMILD 4 &Fif]

D) 1 lnmmiLd 3 &ifl

48. The first clinical gone therapy was given for
treating

A) Diabetes mellitus
B) Chicken pox
C) Rheumatoid arthritis

D) adenosine deaminase deficiency
(NS ETT (PNG696V LD(IHSSI6N DT LIS FI& &6,
@\ BCHITerW &60T LD S SI6USHMSH TS
GLMASTETETLILLL ).

A) e L WmGLLg6n LolevedlLen

B) QLhemLn GBITUl

Q) @WLLLTUG TS FL g6

D) 9119 Geor & 60T 19 2L G6oTeny &H6mMLIT(H

49. Which one of the following represent a
Palindromic sequence in DNA?

A)5° — GAATTC - 3’
3’ CTTAAG - 5°
B) 5’ CCAATG — 3’
3>~ GAATCC - 5’
C) 5’ = CATTAG — 3’
3’ _GATAAC - 5°
D) 5~ GATACC — 3’
3~ CCTAAG - 5’

ECLp QEMH&HGELILIL L emeuserfley
DNA-aleor Lmedest(CImd eurflena?

61&l

A) 5’ - GAATTC -3
3’—-CTTAAG-¥°

B) 5~ CCAATG -3’
3’ - GAATCC -5’

C) 5’ - CATTAG -3’
3’-GATAAC-¥%°

D) 5~ GATACC — 3’
3~ CCTAAG — 5’
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50. Edible vaccines are prepared by molecular
pharming using the science of genetic
engineering. At present edible vaccines are
produced for human and animal disease like

A) Hepatitis and ADA

B) Corona and malaria

C) Foot and mouth disease and hepatitis
D) Foot and mouth disease and corona

LryUueummluiluey 6TEOTERILN

SMleflwmLesensgL LwerU(h S5
eLNEVEFa M D[HHSHTEHEID  6T6OTIND  (LDEDIM

epeuld  eumleudl sGLL DG HSHSHET
WM& 8 LU0 &) 6T m6or. SHOLTWSI,
2 @UISSGHS  SOUY  WOGHSISET

GL&ETevIln 6HS S Weflgs Wmmibn ek
GBHMUSHEHHGS 2 MHUSH QEwWwliLGRmS.

A) 8606560 QLM LDHMILD ADA
B) Q&m@rmeorm LoMMID LoGeviflulm

Q) &Mev MMID euml GBITU  WMmMmILD
5606560 LM

D) &ML OMMID eumll GBHITUI  WMmM|ILD
Q&ITEImeoTIT

51. The yeast saccharomyces Cerevisiae is
more suitable for production of recombinant
interferon’s than E. coli because.

A) S. Cerevisiae 1s more easy to synthesise

B) E. coli does not posses the machinery for
glycosylation of proteins

C) S. Cerevisiae is easy to isolate in a culture
medium

D) E. coli in posses extra nuclear plasmid

IDMICFTHNS 3) 60T L_[J & G LIT IT60T & 61T
2 MUSGHEG '6I-CHmemen’ el el
FrHEHEErmeanFov QFfleNFICU  6TeTenIld
eV QUIMTHES S LDMEOTS TG LD. 6 Gl6oT6nt 16V,

A) Fm.eFflaleFICw
eTerflem LD W TEOTS!

2 HUSHEHE

B) LIT& IS 60 6TE FIHHMTEWMMLD
360 MEUHEHS G &6t 6UULTeoT
@QWEGSETLD 6T.CEHMemneVUIE @) 6Vem6ey

Q&M QFflalFICW euemy 26155560

QOGHS! 5050 ULSDHE
6TeIfl6m LD U TeoTSH
D) er.8&memevuilev 2 Lesmaln&

QLummULl® e WermeldlL 2 6Tengl

52. The enzyme is required for PCR Anneling
process

A) Taq Polymerase
B) DNA Polymerase
C) RNA Polymerase

D) Topo isomerase

PCR ©)6m600T LIL|
Gz emallILI(ILD QBTH

QFWLNEMMEH S

A) Tag LIS GIeny
B) DNA LimeSlnGreny

C) RNA umedln@reny

D) GLmGuUIT 8B&FMLOGIT6

53. The bones of a child are less brittle and
more flexible than that of an adult individual
because they have

A) more calcium phosphate and less organic

substances

B) less calcium phosphate and organic
substances

C) more calcium phosphate and organic

Substances

D) less calcium phosphate and more organic
substances

@@ 6UeTHS LD6OIH60T60T  6TEVILDL|860)6MT
STLIQIIN @M GLHmSUINET 6TeVLDL|SH 6T
GOMHS 2 6eMLU|D  H6OTemD  LDMHMILD
TG  UMETWSHTnIQUl  5560Te0) DL 60T
@ BLILIGMSTEOT &ITJ600TLD
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A) 95H& SHTOFIWND UMvsCUL MMID
GBS S0 QUITIHL 6T

B) GMMbHEH  STeFWID  LImensGCULl

MHMILD &Iflo QUTIHL 86T

0 FH& S&MeLFIWD LUTVSGUL MHmILD
&IfIlD QUITIHL_S6T

D) GeOMbBS  STOFIWID  UmevsCLIL
LMD F & SIflD QUITIHL 6T

54. Match items given in coloumn I with
appropriate items (One or more) in coloumn
II

Coloumn | Coloumn II
a. Humerus 1. Thigh
b. Hydrostatic skeleton 2. Upper arm

c. Femur 3. Flatworms
4. Acetabulum
5. Glenoid cavity
6. Hydra
A)a—-2,5 b-3,6 c—1,4
B)a-2,1, b—-4,5 ¢-3,5
C)a—3,4, b—-2,5 ¢c-1,6
D)a-1,6 b-1,4 c-5,2
aflems l-emw 2 LeT auflemndF I 2 Ler

(@eTMIMGLD GMUL L) QUTHSSH &iflwimeor
aNl6mL60IWLIE> 55IT600TS.

alflens | alflens i
a) @l upLoyen 1. Q& mevL
b) Biw FL L&D 2. GLoMens

o) &LIng 3. 5L 6mLLI L(D& 56T

4. @by el (&6
(SFL_LTLj6vLD)

5. 608 TVILDL| QILIMTBHIBHSI

efle  @eflBmih
GamailLl1q)

6. QL_JIT
A)a—-2,5 b-3,6 c—1,4
B)a-2,1, b—-4,5 ¢-3,5
C)a—3,4, b-2,5 ¢c-1,6
D)a-1,6 b-1,4 c-5,2

55. Select the correct statement about the
Vertebral Coloumn.

A) There are seven pairs of Vertebro sternal
bones, three pairs of Vertebro chondral and
two pairs of Vertebal ribs.

B) 8th, 9th and 10th pairs of ribs articulates
directly with the sternum

C) 11th and 12th pairs of ribs are connected to
the sternum with the help of hyaline.

D) Each rib is a flat thin bone and all the ribs
are connected dorsally to the Thoracic
vertebral and ventrally to the sternum

WPSIOSHVIDLS QST @@55 Frflwmeor
Famenm CHIHES(H & &L

A) (LD ©)60)600T 2_600T60)LD GI6VIT ETEVILDL| S 6T,
e 60T M1 @) 60600 GLIMEd &N 6LIT 6TEVILDL |55 6T
OO @Feor(h  @enemr  LSE&GLD
Nl6VIT 6TEVILDL|S56T 2_6IT6ITEOT.

B)89 Wwmmib 10 eugl  @emevor ellevm
6TEVILDL| & 6T LOMF G LISYILDLL 60T
GBIJLYUITS @)60)600T[HSI6TETSI.

011 omoWL  126ug @ eneoor  elleur
TVILDL|SH6T MmN 6T &(HSE SN
eLN6LLD LOMF G LISYILDL]L 60T
@) 6m600TSH & LILIL(H 6TeTS).

D) Q6Vedl  SLeMLWITET  eelQ6T(H
efleurm  eraubLd, WEEG LUDSHe
WSIQHNIDLG QBT (HL LD
WIHmIL Lm&S 36V LDMFGLSYLDL|L eILD
() 60)600T [HS1 6TETS .
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56. Assertion (A) : Biceps and triceps are called
antagonistic muscles.

Reason (R) : This is due to the fact that they
contact and relax together.

A) Both A and R are true and R is the correct
explanation of A

B) Both A and R are true but R is not the
correct explanation of A

C) A is true but R is false

D) Both A and R are false

FaMml (A) : UQFLI6N LDMMILD 1960 TR&FLI6N
AHBW @ueor( SHOFHEHLD  THFDNM
SN F&H6IT

&mgeoortd (R) : @ueoor(h HOFHEHLD GT
FOWSH &HmmG, aliflaigsme, elamm
HHSULOS DG

A) (A) wpmild (R) @reor(itd &1, (R), (A)
almssmeor SFiflulmeot eflemg&LnMELD.

B) (A) ommIh (R) @evor(hid &ifl, h60TTEV
(R), (A) eflm & meor &iflulmest aflev & 85L06V6y

O (A) &ifl; (R) Beumy
D) (A) Lo MILD (R) @ Tevor(HILD &6umi

57. A Cricket player is fast chasing a ball in the
field. Which one of the following groups
of bones are directly contributing in this
movement?

A) Femur, malleus, tibia, metatarsus

B) Pelvis, ulna, patella, tarsus

C) Sternum, femur, tibia, fibula

D) Tarsus, femur, metatarsus, tibia
& (H Al [aF:N aflemerwimL_(®) &S,
MG TOTSEH L LHend SITEHE 68 mevor(h
GPMTT. G Q&TH&SLILIL L emeussertley
6THS eTVDLIGET, @euflear emFea|serflev
LRICHOHIMSI?

A) &L5100, LOmedlwen,
QULLITLITI&6N

Lq LS,

16

B) GLIsvalen, 2_6V6oTT, LILQL6V6VIT, LITT& 61
Q) ev@LFeorLd, »Ling, g wim, &LlLeur

D) LTi&ev,  &Liog,

19 Lwirr

QLOLLITLITJ& 6N,

58. Match List I with List II and choose, the
correct one four the options given below:

List I List II

a) Scapula 1. Cartilaginous joints
b) Cranium 2. Flat bone

¢) Sternum 3. Fibercon’s Joints

d) Vertebral coloumn 4. Triangular flat bone

a b C d
A) 1 3 2 4
B) 2 3 4 1
C) 4 2 3 1
D) 4 3 2 1

afleng | LDOHOID auflend 1I-Q& Wweumenm

QUITBSS, SLpEseorLaimmier &ifluwimeor

allemLeml CHTHOSH(H H&HELD.

a) VG L6VIT 1. SHSSHVILDL
©)60)600T L1L| & 6T

b) LD6oOTEML. e2(h 2. HL_6ML_UIITEOT 6TILDL|

o) LTIQuUaudL] 3. BrflemerLiL| 6T

d. (NSI&NINLS QSTLIT
4. (P& GBT600T 616U

6TEVILDL|
a b C d
A) 1 3 2 4
B) 2 3 4 1
C) 4 2 3 1
D) 4 3 2 1
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59.In the given statement, more then one
answers given may be correct. Select the
correct answers and mark it according to the
code. Bone is a living tissue — because

1.1t contains living cells like osteoclasts,
osteocytes and osteoblasts

. It also contains bone morrow from which cells
are produced

3. It shows growth and metabolism

. It is freely movable.
A) 1, 2 and 3 are correct
B) 1 and 2 are correct
C) 2 and 4 are correct
D) 1 and 3 are correct

Q@M Faomm Q&HTHSHELILL®M), &M Teor

Frflwimeor, 6260TMI & (GLD GMmUILL
allemL 86T QEBTHSHEHLILIL (H6TeT!.
Frflwmeor aflen LG emerr &evor LM H Sl

Q&ThHS&HLILL(Beter  GMluiGseflev  Lol&

Fflwmerensd CoIHOSHIGHEHEID.  6TevDL]
@ 2_UNH6TET &5 7 Q6OTEITMIT6L,

1. B 6L 2_UNHETET QF6VEEITITEOT
6n1g GwiLIl e menu(h 86T,
L6111 CUIMEn&FL_(H &6 LDMMILD
L6V GWITGR 6T TNV () & 6T 2_6T6ITEDT.

2. 3|B6L T LDZEOBUILD FH60BHS!
Q&F6LEET 2_(H6U TS 60T M 60T,

3. 918 QUTHES DHMILD eleTTFens
LTHOSHDGETOTTH DS

. & S SS SeMFUJLD S6OTEOLD
Q85 T600T L6 6L.

GSMIUTb S&HeiT:
A) 1,2 nmHmild 3 &ifl
B) 1 Lnmmilh 2 Qb &l
Q) 2 inmmId 4 InL_(pILh &ifl

D) 1 lnmmitd 3 L Qb &l

17

60. Knock knee disease is due to
A) deficiency in tyrosine amino acid
B) hormonal imbalance
C) excess fluoride concentration in water body

D) Genetical abnormality in males

GUEMETIHS &HTeLEHET (Knock knee) e LI(h 61 & 60T
& ITIJ600T LD

A) L GBrmHRer eTemid ACeTT Ijdlev
&60)MLIML_LY.60TT6V

B) eam My GLOM6oT &6mmLIM(h&6TTeL

QBT mlemeusmerfley sLeemenT® G &Fnley
FG&G 0TS & Tevor LILI(H6U S M6V

D) 9b600T&HEHEHGSG — ghuUBm Ll
FEIUI6VITEOT & TS ITTE0OT [H]6M6V
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